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Fourier Series
• Definition of the Fourier series (synthesis equation):


• a_k: complex coefficients  

• k integer variable
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Fourier Series (analysis equation)
• Frequency information is contained in the a_k’s


• INTEGRAL IN A PERIOD - from 0 to To or  -To/2 to To/2, for instance. 

• a_k: complex coefficients 


• k integer variable
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“intuitive” derivation of the a_k
• Como llegar a los a_k? (derivación intuitiva, no formal)  we show 

an “intuitive” derivation of the  coefficients a_k:
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“intuitive” derivation of the a_k
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“intuitive” derivation of the a_k
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We focus on it 



“intuitive” derivation of the a_k
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We are lucky since the integration is in a finite interval… 

after some “looks” and easy derivations, we can arrive to:
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“intuitive” derivation of the a_k
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“intuitive” derivation of the a_k
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“intuitive” derivation of the a_k
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Questions?


